8.4 Fresnel diffraction

Kirchhoff’s diffraction formula®
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“Also known as the “Fresnel-Kirchhoff formula.” Diffraction by an obstacle coincident with the integration surface
can be approximated by omitting that part of the surface from the integral.

bThe source amplitude at p is y(p) = Eoe*? /p. The integral is taken over a surface enclosing the point P.
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“L.e., the aperture—observer distance to be employed when the source is not at infinity.
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Edge diffraction
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“See also Equation (2.393) on page 45.

bSlit long in x.




